
  

User:  jdmpx  |  Contact Us

Parts Catalog - Option Detail   

Electronic Parts Catalog - Option Detail

Option Group Graphic Film Card Date

FP2953-
06 05.01 fp204gp II 13-JAN-10

Engines ISM CM570, ISM CM570/870, ISM CM875, ISM CM876, ISM CM876 E, ISM11 CM876 M103, ISM11 CM876 SN, M11
CELECT, M11 CELECT PLUS, M11 MECHANICAL, QSM11 CM570, QSM11 CM876

SMALL | MEDIUM | LARGE
 

Cart Ref No Part Number Part Description Required Remarks

View My Cart

  FP2953-06 Fuel Pump   

     Fuel Pump

     Fuel Inlet Restriction Sensor

     Prov: No

https://qsservices.cummins.com/qshd/feedback.php?productid=1
javascript:swap_img('fp204gp','/rtgraphics/english/parts/fp/2/fp204gp_sm.png');
javascript:swap_img('fp204gp','/rtgraphics/english/parts/fp/2/fp204gp_md.png');
javascript:swap_img('fp204gp','/rtgraphics/english/parts/fp/2/fp204gp_lg.png');


     Fuel Pump Type: Celect

     Fuel Filter Loc: Remote from

     Fuel Pump

     Fuel Temp Sensor Provision:

     Yes

     Fuel Shutoff Valve Volts: 12

     Fuel Valve Terminal

     Provision: Single/Internal

     Ground

     Gear Pump By Pass Fitting

     Position: 90 Degrees to Rear

     Face of Gear Pump

     Includes Fuel Restriction

     Compucheck Fitting

      

 3090942 Fuel Pump 1  

1       S 2286 Drive Screw 2 3/16 in.

2       70700 Compression Spring 1  

3       100129 Socket Head Cap Screw 4  

4       105375 Nameplate 1  

5       128807 Retaining Ring 1  

6       129768 Valve Spring 1  

7       129839 Shut-Off Valve Shield 1 .

8       129888 Rectangular Ring Seal 2  

9       146483 Filter Screen 1  

10 153346 Socket Head Cap Screw 2 1/4 - 20 X 4 in.

11 196057 Valve Disc 1  

12       3014575 Fuel Pump Filter Cap 1  

13       3021123 O-Ring Seal 1  



       3033742 Threaded Plug 2  

14           3034412 O-Ring Seal 1  

 15           3079584 Threaded Plug 1  

16       3034451 Actuator Housing 1  

       3036865 Male Union 1  

17           3037236 O-Ring Seal 1  

 18           3100526 Male Union 1  

       3042619 Coupling Nipple 1  

19           3037537 O-Ring Seal 1  

 20           3042620 Coupling Nipple 1  

21       3056009 Actuator Disc 1  

       3056416 Threaded Plug 4  

 22           3056003 Threaded Plug 1  

24           3034412 O-Ring Seal 1  

24       3065944 Captive Washer Cap Screw 4  

25       3068768 Retaining Ring 1  

26       3074317 Seal Spacer 1  

        3090993 Fuel Pump Support 1  

           3074316 Seal Spacer 1 Not shown on art.

27           2872429 Seal Spacer 1  

 28           3071643 Oil Seal 1  

 29           3084713 Oil Seal 1 Sold In Higher Level Assy/Kit

       3090996 Fuel Pump Support 1  

30               3073887 Ball Plug 1  

31               3090997 Fuel Pump Support 1  

32       3095355 Jaw Coupling Hub 1  

33       3096077 Fuel Pump Gasket 1  

 34       3408421 Solenoid 1 Serviced As 4024808.

       4954880 Gear Fuel Pump 1  

35           64816 A Pin Dowel 2  



36           70704 Plain Washer 2 1/4 in.

3           100129 Socket Head Cap Screw 2  

37           110855 Fuel Pump Gasket 1  

10           181466 Lock Washer 2 1/4 in.

38           3033719 Ring Dowel 1  

39           3085615 Retaining Ring 1  

40           4010296 Pressure Regulator Plunger 1  

41           4010297 Compression Spring 1  

            4903125 Gear Shaft 1  

 42               4009847 Idler Shaft 1  

 43               4010038 Check Valve 1  

44               4903124 Fuel Pumping Gear 1 Sold In Higher Level Assy/Kit

           4954876 Fuel Pump Gear Cover 1  

45               3033724 Bushing 2  

 46               4954875 Fuel Pump Gear Cover 1  

            4954877 Fuel Pump Gear Housing 1  

           3095635 Gear Shaft 1  

 47               4954794 Fuel Pump Gear Housing 1  

            4954878 Gear Shaft 1  

48               3095356 Fuel Pump Drive Shaft 1  

44               4903124 Fuel Pumping Gear 1 Sold In Higher Level Assy/Kit

 BM76340 Fuel Pump Damper 1  

49       100099 Rectangular Ring Seal 1  

50       139988 Rectangular Ring Seal 1  

51       153336 Fuel Pump Damper Body 1  

52       153338 Fuel Pump Damper Cover 1  

53       160514 Plain Washer 1 1 11/16 in.

54       202897 Fuel Pump Damper Diaphragm 1  

55       3017051 Captive Washer Cap Screw 2 1/4 - 20 X 1 1/8 in.

36 70704 Plain Washer 2 1/4 in.



56 151900 Rectangular Ring Seal 1  

57 153346 Socket Head Cap Screw 2 1/4 - 20 X 4 in.

10 181466 Lock Washer 1 1/4 in.

      

 3803493 Fuel Pump Support 1  

       128807 Retaining Ring 1  

       3037536 Threaded Plug 1 9/16 - 18 UNF

           3037537 O-Ring Seal 1  

            3040813 Threaded Plug 1 9/16 - 18 UNF

       3074316 Seal Spacer 1  

       3074317 Seal Spacer 1  

       3090996 Fuel Pump Support 1  

       3096077 Fuel Pump Gasket 1  

       3803477 Seal Kit 1  

            3071643 Oil Seal 1  

            3084713 Oil Seal 1 Sold In Higher Level Assy/Kit

      

 4024808 Fuel Solenoid Kit 1  

       129888 Rectangular Ring Seal 2  

        3408421 Solenoid 1 Serviced As 4024808.

 
© 2019 Cummins Inc., Box 3005, Columbus, IN 47202-3005 U.S.A. 

Terms of Use and Disclaimers  |  Recommended System Requirements 
Need Assistance? Please click on the Contact Us button in the top right corner of any page.

https://quickserve.cummins.com/qs3/qsol/terms.html
https://quickserve.cummins.com/qs3/qsol/system_requirements.html

